

Section 1:   
Please write an in-patient prescription appropriate for each of the scenarios described. Assume that at that point the patient has not been prescribed any medication; write each drug on a separate line. Indicate dose, frequency (as x1, x2 etc rather than od or bd) and route of administration if other than oral. Unless  specifically asked, you do not need to write up an IV fluid regime.  You have full use of the BNF and normal values are provided for investigations.

1. A 73-year-old woman is admitted with congestive heart failure. She has pitting oedema to the umbilicus and is almost immobile. Her BMI is 28 and BP is 121/65 mm Hg. On admission she is found to have a urinary tract infection, bacteriology results are awaited. Other investigations show creatinine 133 µmol/L, fasting blood glucose 5.1 mmol/L, total cholesterol 4.8 mmol/l and HDL cholesterol 1.1 mmol/L. Chest X-ray confirms pulmonary congestion.

(17.5%)
2. A 31-year-old man is admitted with a 6-week history of abdominal pain, weight loss and diarrhoea. Crohn’s disease is diagnosed. His haemoglobin is 8.7 g/dL, with MCV 103, ESR is 86 mm/hr and CRP is 74. Serum albumin is 29  g/L.

(17.5%)
Please Turn over
Section 2:  

Please consider the following scenarios and the prescriptions accompanying them. Comment on the prescriptions, especially in terms of efficacy and safety, including potential interactions. Give you answer in the form of brief bullet points. The BNF is available. 

3. A 65-year-old man has hypertension (BP 174/81 mmHg) and type 2 diabetes (fasting blood sugar 7.3, HbA1c 76 mmol/L). Total cholesterol is 4.5 mmol/L and HDL cholesterol is 0.7 mmol/L; triglycerides are 3.8 mmol/L.  His BMI is 36.


Prescription:



Lisinopril 20 mg x1 daily



Gliclazide 40 mg x 2 daily



Metformin 500 mg x1 daily



Bezafibrate 400 mg x1 daily
(17.5%)
4. A 54-year-old man has been diagnosed with pulmonary tuberculosis. He has been started on antibiotic therapy but is also found to have atrial fibrillation, time of onset not known, and resting ventricular rate 94/min: this increases to 120/min on mild exercise. He has very recently had a first attack of gout and this continues. His creatinine is 138 µmol/L.  He weighs 62 kg.


Prescription:



Isoniazid 300 mg x1 daily



Rifampicin 450 mg x1 daily



Pyrazinamide 2g x1 daily



Ethambutol 800 mg x1 daily



Digoxin  0.25 mg x1 daily



Ibuprofen 200 mg x3 daily



Warfarin 7 mg x1 daily

(17.5%)




Please Turn Over
Section 3:
Please work through these calculations and enter your choice of answer on the enclosed Multiple Choice Question answer sheet. You are provided with a calculator.

1. Amphotericin has been prescribed at a dose of 500 micrograms/kg daily for a woman weighing 60 kg. The infusion is to be given over 4 hours and is made up to a concentration of 0.1 mg/ml just before administration.  What should be the infusion rate in ml/minute?

A. 0.50 ml/min
B. 0.75 ml/min
C. 1.0 ml/min
D. 1.25 ml/min
E. 1.5 ml/min
(6%)
2. An antibiotic is given orally 3 times per day, in equal doses. The total daily dose is 20 mg/kg and each tablet is 200 mg. How many tablets should a patient weighing 90 kg take on each occasion?
A. 1

B. 2

C. 3

D. 4

E. 5

(6%)
Section 3 continues over leaf.  Please Turn Over

3. A patient is receiving an infusion of unfractionated heparin, 15000 units in 50 ml of 0.9% saline. The pump is set at 5 ml/hour. After 4 hours the pump stops unexpectedly. What is the total dose of heparin administered up to that time?

A. 3500 units

B. 4000 units

C. 5000 units

D. 6000 units

E. 7500 units

(6%)
4. Dobutamine is to be given to a 75 kg patient undergoing a stress echocardiogram. The dose is 5 micrograms/kg/min and the stock solution contains 5 mg/ml.  At what rate, in ml/min, should you set the infusion device?



.
A.   4ml




B.   4.5 ml




C.   5 ml




D.   5.5 ml




E.   6 ml

(6%)
Section 3 continues over leaf.  Please Turn Over

5. A patient with severe COPD is to receive an aminophylline infusion at 500 micrograms/kg/hour: he weighs 80 kg. The infusion bag contains 500 mg of aminophylline in 500ml of 5% dextrose. At what rate would you set your infusion pump in ml/min?

A. 0.33 ml/min

B. 0.50 ml/min

C. 0.67 m/min

D. 0.80 ml/min

E. 1 ml/mi

(6%)
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